[ Efficiency vs vertpos |

~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025
0.02
0.015
0.04
0.005

........................

1.0

Ratio

o
©
a

=
o

Efficiend

[N}

e R R
e R d R R T P PP P
e
= o . . .
Fo e R ' d P i
- M N NE H
F . T .
E Lo & k3 .
F h Y ¥ .
= | Foll |

L N L N AT L T L
| R R e R R

10™

1 1
TP ve

0 0?
rtr (cr%)

11 _ornigmal

—=— DQM
—e— DOQM_TT newbranch

—— DQM_TT original_pLess
—— DOM_TT newbranch_plLess

~ 0.5
20.45
o
> 04
>
2
50.35
0.3
0.25]
0.2
0.15
0.1
0.05

effic

.......................................

.......................................

.....................................

Vs

Ratio
N

0.95!

0 10

20

30

TP vert z (cm)

[Effici

ency vs.sim PV z |

N 0.2
>
8018
£
50.16
20.14

)
£0.12

e

effic

0.08
0.06)

0.04F

0.02

0.1F

.......................................

.......................................

.......................................

10

o

15 20

éim. PV z (cm)




	Contents
	Page 1


